Theorem Proving (List 4): Non-Ground
Superposition
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. Consider the following, unsatisfiable, set of first-order formulas:

Vay R(x,y) — 3z R(x,2) A R(z,y)
Vo —R(x,x)
Jzy R(z,y) AVz zmaxVzry

Transform this problem into clauss.
. Refute the clause set, using superposition, negative selection, and a KBO.

. Transform the following set of formulas, which is also unsatisfiable, into
clauses:

Vay N(z) AS(z,y) — N(y)

Voy S(z,y) =z #y

Vo N(z) — Jy S(z,y)

Jr N(x) AVy N(y) vz =~y

. Refute the clause set, using superposition, negative selection, and KBO.



